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il Cumol/g HE ) =(C ARifExV2) x(A WIE-A 75 F)+(A FrdE-A 75 F)+(WxV1+V) xD
=4x(A ME-A 7 F)+(A FrfE-A 72 [1) ~WxD

=(C FRifExV2) x(A TSE-A % F)+(A FilfE-A %2 H)+(WxV1+V) xD

=368.36%(A MIE-A =5 [1)+(A rHE-A 2= 1) +WxD

Hil (ng/g EHD

2. YA E T
Hl Cumol/10% cell)

=4x(A ME-A 2 )~(A brifE-A 2= 11) xD

=(C FRiEXV2) x(A ME-A 25 H)+(A brdE-A 2 1)+(500xV1+V) xD

=4x(A I5E-A 2 F)(A FrifE-A 25 ) +500xD

il (ug/10%celD) =(C #riExV2) x(A MIE-A 25 H)+(A FrifE-A 2 [H)+(500xV1+V) xD

=368.36x(A ME-A 7 H)+(A #ifE-A 7 H) +500xD

3. AT R
Hil (mmol/L) =(C Fr#fExV2) x(A ME-A 75 ) ~(A hrffE-A 2= H)=V1IxD

Hi (ug/mL) =(C #r1EXV2) x(A MIE-A 7 H)+(A brifE-A 75 H)+V1xD
=368.36x(A ME-A 75 F1)+(A Frifi-A 25 [1) xD

C FrifE---4mmol/L=4pmol/mL=368.36pg/mL;
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